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Section A (28 x 2 marks = 56 marks)

For each question from 1 fo 28, four options are given. One of them is the correct
answer. Make your choice (1, 2, 3 or 4). Shade the correct oval (1, 2, 3 or 4) on the
Optical Answer Sheet provided.

1. Katherine placed a dish of sugar cubes beside some ants as shown below.

ant sugar cube

She observed that the ants moved towards the dish of suger cubes. Which
characteristics of living things explains her observation?

(1}  Living things can die.

(2) Living things can grow.

{3) Living things can reproduce.

(4) Living things need food to stay alive.

2. Study the classification chari below.

Things
I
P i
Group A Group B
moss worTm
yeast tadpole
mushroom caterpillar

Which of the following best represents groups A and B?

Group A . Group B
4)] _ fungi animat
{2) canmake itsown food =~ cannot make its owr food
(3) can reproduce _ cannot reproduce
(4 cannot move from place to place can move from place to place
1
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3. The diagram below show a lily plant and a fern.

lily plant

Which of the following statement(s) isfare true?

n
@
£3)
4)

The fern is a fungi.

The lily plant reproduces by seeds.

Only the kily plant is able to make food.
The fern cannot move from place ta place.~

O m >

A only

Aand Conly

B8 and D only

B, C-and D only

4. Which of the following statements are true about bacteria?

(1)
(2)
{3)
{4)

A All bacteria are hamnful to us.

B Some bacteria are not microcrganisms,

C  Bacteria feed on living things, dead or alive.
D Bacteria comes in different shapes and sizes.

Aand D only
B and C only
C and D-only
A, B and C only
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5.

Siti conducted an experirent to find oul i the surrounding temperature affects the
growlh of mushrooms. She placed four set-ups W, X, Y and Z in different locations
and watered them daily. She observed their growth for two weeks and recorded the
resuits in the table below.

Height of mushroom (cm) Amount of Surrounding
Set-up | Start of the End of the water given temperature
experiment | experiment daity {ml} {°C)
w 3 4 10 3
X 3 g 10 15
Y 5 14 10 27
£ 5 7 10 40

Based on the table, which of the following statement(s) is/are comect?

&)
v
&
{4)

A
B
C

The least suitable temperature to grow the mushrooms is 15°C.
The most suitable temperature to grow the mushrooms is 27°C.
The amount of water added affected the growth of the mushrooms.

A only
Bonly
A and C only
Band C only
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8. Pau! conducted an-experiment shown below.

b T

plant

He recorded the water level over a few days in the graph below.

water level

{mi)

.}days

Based on the results, what can he conclude from his experiment?

1
@
3
{4)

The plant has grown talier.

The plant needs air to stay alive,
The plant fook in water through the roots.
The plant will die if its. roots are removed.

7. Germaine wanted 1o find out if the amount of water giver to the seeds would affect

the germination of seeds.
Setup | Number of seeds ;’:;‘;g’gg;};ﬂt? | Presence of ight
A 10 100 | No
B 12 50 Yes
c 10 50 No
D 12 400 " Ne

Which two set-ups should she choose to conduct a fair test?

m
@
@
C)

A ard C only
A.and D only
Band C only
B and D only
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8. Lisa observed some organisms P, Q, R and S shown below.

9.

organism P arganism Q organism R organisin S~

Which organism(s) is/are not able to undergo the following life cycle?

N
2
(3)
(4)

Whichi 6f the

seed

;

aduit plant «——  young piant

Q only

Sonly

Pand R only

P, Rand Sonly

§)
{2)
3}
4y

iteatsaiot
it develops wings.
-51{?-‘ iti Il'f it e e I < ,,.._;
It can reproduce &t this stage.

o o S 4

Aand C only
B and D only
A, B and C only
B CandD only
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10. The diagram below shows a duck and a frog.

11,

Which of the following shows the correct similarity and difference for the two

animals?
Similarity Difference
(0 Both can fly. The duck has a beak but the frog does not,
) Both lay eggs. | The duck lives in water but the frog tives only on fand. i
(3) | Both have feathers. | The duck has two legs but the frog has four legs.
4) Both ha%h;:mbbed The duck has wings but the frog does not.
Study the classification chart below.
Group X
Which of the following are suitabie headings for group X and Y?
| Group X _GroupY
&) __donothave shells __ haveshells
25 covered with scales covered with scaly skin
FE)] have tails __dongthavetails
{4) lay eggs give birth to youny alive
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12. The graph below shows the number of days in each stage of the life cycle of
animals W and X.

13.

n_umbgr of days

127

v
/ 3
7

€9g young

aduilt

*stage

Based on the graph, which of the following statements is corect?

0
{2)
)
4)

Animal W lays more eggs than animal X,

Animal W takes 14 days to become an adult after the egg hatches.
Animal X takes a shorter time than animal W to complete ifs life cycle.
Animal X and W do not have the same number of stages in their life

cycles.

P.Q, R, 8, T are organs in the digestive system. The graph below shows the
amount of undigested food leaving each organ after a meal.

4}
2

@

@

undigested food
leaving each organ

A
amount of

P
Which of the following is correct?

organs i

digestive system

Mouth Guilet Smal! Intestine | Large Intestine
P Q R T
s P T R
s R p a
P s Q R
7
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14. The diagram below shows the human skeletal system.

Which-of the following statemenis co

ctiv describe the functions of the human

skeletal system?
A it supports the body.
B It gives the body shape.
C it protects the organs in the body.
D it enables different parls of the body to move.
(1} Aand D only
(2 BandConly
(3y A BandConly
{4} B, C and U only
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15.

16.

Ashley poured a packet of coffee into a cup as shown below.

packet of

coffee
cup

Which of the following statements best describes the property of the coffee?

A It can be compressed.
B it does not have a fixed shape.
C It does not have a fixed volume.

(1) Bonly
(2) Conly
{(3) AandBonly
{4) AandC only

Study ihe flow chart below.

Matter

|

Can be compressed?

()
No |
3 — Yes Yes
Has definite volume? Has definite shape? '

Which of the following best represenis the letters W, X and Y?

(1)
(2)
3)

“)

w X Y

air ruler rilk
ruler itk air

air waler eraser
water eraser ruler
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17. Fatimah condudted an experiment using two similar cups W and X. She pasted a
piece of dry tissue in each cup at the same position. She then made a hole in cup
X. Next, she pushed both cups into two similar basins of water as shown below.

cup W cup X
lissue ___,;5’”'1 ‘
7o
/| —basin — basin
7500 cm” 4 _B00om”
of waler - of water

Fatimah made some observations.
Which of the foliowing statements are true?

H
@
@)
4

A Only the tissue in cup X became wet.

B More water enteved cup Wihan cup X

¢ “The tissue in both cups became wet,

D Airin cup W takes up space so water level in cup W is lower than .

incup X, .

Aand B only
A and D only
B and C.only
Cand Donly

10
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18. The diagram helow shows a syringe attached to a tank.

- plunger

air

— water

Which of the following observations is correct after the plunger is pushed in?

volume of airin the | volume of water in | total volume of air and
tank the tank water in the tank
(N increased remamned the same increased
{2) increased decreased _ increased
(3) remained the same | remained the same |  remained the same
(4) | remained the same decreased increased

18. The diagram below shows four identical magnets hanging freely ona bar. A B,
C. D, E, F, G and H are poles of the magnets.

| ]

/7

BSIC D

Which one of the following statements is true about the magnets shown above?

(1)  Bwill repel E,

{2) F and H are like poles.
{3} A and D are like poles.
{4) € will be atiracted to G.

11
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20. Sheila conducted an experiment by suspending three identical magnets using
similar rubber bands E, F and G. She then placed objects P, Q and R below the
magnets as shown in the diagram below.

fixed sufface

rubber band E
N N
magnet — g S
object—— P Q

rubber band F

rubber hand G

She recorded the lengths of the rubber bands in the table below.

Rubber band _Length‘of the rubber band {cm) ‘
Before experiment After experiment
E 4 2
F 4 4
G 4 8 :

Based on the table above, which of the following statements is true?

(1)
2
3
(4)

Gbject R repeis the magnet.

Object P attracts the magnet.

Object (G is made of a non-magnetic material.

Chject P is made of a non-magnetic material,

12
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21, Joanna hung a magnet from a fixed support. Using a string, she tied 2 paper
clip fo the table. The paper clip remained in an upright position in the air.
She placed different materials of the same thickness between the magnet
and paper clip as shown below.

fixed support

* magnet ~

EXFLEEN e
setup A set-up B

In which set-ups A, B, C or D will the position of the paper ¢lips remain
unchanged after the materials were placed in between the magnet and the
paper clip?

(1) AandC
(2) AandD
3) BandC
4 BandD

13
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27 Wayne had a bar magnet and a rod magnet. He placed the bar magnet at one
end of a ruler and slowly moved a paper clip towards it until the paper clip was
attracted to the magnet. He repeated the experiment with the rod magnet.

before after
N R C=> N S>>
bar magnet I T !'“"“"“’ bar magnet I bl !
ruler ruler
before : after
1
0 l > | [=>
rod magnet ' rod rasgnet
ruler nder

What can Wayne do to find out which magnet has a greater magnefic strength?

(1)  He shouid measure the length of the magnets.
{2}  Heshould measure the distance between the ruler and the paper dip.

{3} He should measure the distance at which the paper clip is attracted to
the magnet,

{(4)  He should measure the distance between the magnet and the paper clip
at the start of the experiment,

'23. Study the diagram below.

Which of the following statements explains how the boy can see the ball?

{1) The batli is a source of light.

{2)  Theboy's eyes reflected light from the sun onto the ball,
(3)  The ball reflected light from the sun inta the boy's eyes.
{4} The sunlight can pass through the ball into the boy's eyes.

14

www.testpapersfree.com




24, Ming Han used a torch and shone at the object from different directions in a dark

Which of the following are possible shadows formed by the object?

A

©)

it
2)
{3)
{4)

A and B only
B.and C only
Cand D only
A, C and D only

15
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25. Study the diagram below.

stick

piasticine

At which position should Mariam shine the torch so that it forms the shadow
shown above?

n @

- torch
\‘“\i | n .

3) 4

PER A

S

1N

16
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26. Eric wanted to find out how the distance between the torch and the object affected

the size of the shadow.
oh (distance _
torch bfeti\féen torch (distance between screen
- % } - andobjecty [ objectand screen)
. . :'“” g Ll 2; bl g -
N
~ object

Which of the following variables should be kept constant to ensure a fair test?

The object used in the experiment

The amount of light from the forch

The distance between the torch and the screen
The distance between the forch and the object

oo W

{1} Aand Bonly
{2) CandDonly
{3) A,BandConly
{4y A, CandDonly

7. The picture below shows a window in Diana’s house. She noticed that different
materials were used 1o make the different parts of her window.

glass cotion curiain
window | QNN
pane =
; ol . wooden window frame

Which of the following best describes the properties of the miaterials used & make
the different parts of her window?

_ Wood ) Cotton Giass
(1) | waterproof flexible siiks in water
(2) | sinks in water light _ strong
@ | notfiexible floats on water allows light te pass through |
o | does not allow fight 1o pass e
# | swong through ] waterproof
17

www.testpapersfree.com

BP-198



28. Ravi carried out an experiment using four similar-sized fishing lines rmade of
different materials A, B, C and D. He hung some weights at the end of each
fishing line until the fine broke. He recorded his results in the table below.

. Number of 2-kg weights it can hold
Material bafn?g bregéki'ng
A 30
B 7
C 10
D 21

Which of the followihg statements are true?

A Material A is the strongest material.
B Material D is heavier than material C.
C Material D is stronger than material B.
O Material A is more flexible than material C.
(1) Aam(C
(2) AandD
3y BandC
(4) CandD

END OF BOOKLETA

18

www.testpapersfree.com

BP-199



Name:

Class :Primarys4

CHIJ ST NICHOLAS GIRLS’ SCHOOL

Primary 4
Mid-Year Assessment

SCIENCE

BOOKLET B

11 May 2021
Total Time for Bookiets A and B: 1 hour 45 minutes | Booklet A 56 '
13 questions Booklet B el

e ] o _ ‘Total _

Do not open this booklet untll you are told to do so. - 100
Follow all instructions carefully. '
Answer all questions.
This booklet consists of 14 printed pages. Parent's Signature/Date

www.testpapersfree.com

BP-200



BP-~201

Section B (44 marks)
For questions 29 to 41, write your answers. in this booklet. The number of marks available
is shown in the brackets at the end of each question or part question.

29. The diagram below shows the human digestive system.

{a) The digestive system produces digestive juices. What is the funclion of the
digestive juices? [

(b) State one difference between the function of Part P and Part (i of the digestive
system. (1]

(¢} What would happen to the undigested food if Part R of the digestive sysiem is not
functioning well? i1
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30. Ina brightly lit room, Ming Jun placed two similar bell jars made of clear glass over two
similar plants A and B. He covered the-bell jar in set-up X with black paper. He
watered both plants with the same amount of water daily.

water sprinkler bell jar

beil jar covered
with black paper

plarmt A

R

.l P 1 S A
setup Y

setup X

After a week, Ming Jun observed that the plant in one of the set-ups had died but the

other plant remained healthy.
{a) What is the aim of Ming Jur’'s experiment? 111
(b) Which plant died? Give a reason for your answer. 7]
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31. - Zi Qi placed four similar tomatoes A, B, C and D infour different locations as shown
below. A tick {v) indicates the presence of the condition.

_ Conditions
_ Warm Moist Dark
_Location W v v
Location X v | v
Location Y v v
Location Z v

She observed the lomatoes after two weeks and recorded the amount of grey
patches that grew on the tomatoes. Her results are shown in the graph below.

amount of grey patches {em®)

{a) What were the grey patches that were observed growing on the tormatoes?

(b) Based on the results shown above, which location W, X, Y or Z was tomato D

placed in? Explain your answer.

(¢} Suggestamethod of keeping tomatoes fresh for a longer period of fime.
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32. The diagram below shows a plant.
(a) Label the parts of the plant by writing in the boxes provided.

| O

Sarah observed the plarnt for four months and recorded her findings below.

(i)

Month Height of plant {cm} Number of owers
March 7 &

April 10 0

| May 13 P
 June 18 2

{b) Based on the above table, what characleristic of living things does the plant

show?

{c) Based on the above table, flowers were not cbserved on the plant for the first
two months, Give a reason for this observation.
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33. Study the following statements.

{(a) State whether the statements are true or false by putting a tick {v] in the comect
box. [2}

_ Staterments - _ True | False
All plants reproduce by seeds.

Plants have four stages in their life cycle.

The leaves make food for the germinating seed.

Tiny openings on leaves heip the plant take in and give out
gases.

Olivia ptaced two simitar plants into two similar beakers, She removed some roots
from the plant in set-up P. She recorded the water levels in the beakers daily.

Sha recorded her results in the graph below.

water level {cm)
F'y

fine &

ne T

» days

(b} Which line 5 or T represents the resuits obtained for set-up P and Q7

Write “S” of “T in the blanks provided. ' 1]
Set-up P:
Set-up (&

5

www.testpapersfree.com

BP~205




34.

{a)

(b

{)

(d)

Rahim observed two animals P and Q and recorded their characteristics in the
table as shown below.

Characteristics Animal P | AnimalQ@
Type of hbdy covering “Hard outer c:oyérinQ : Hair -
Method of reproduction Lays sggs | Gives birth to young

Number of legs ~ Eightlegs ' No legs

Rahim’s mother toid him that animal P is a grasshopper and one of #s
characterisics has been recorded wrongly. Which characteristic has been
recorded wrongly? Explain your answer.

State a funclion for the hard outer covering of animal P.

Based on the tahle, which animal group would animal Q belong #o?

Based on the table, what could animai Q be?

1

1

[7]

M

www.testpapersfree.com

BP-206



35. The diagram below shows the life cycle of animals Wand X

animal W , ; animal X

{a} State two differences between the life cycle of animals W and X. (Do not compare

the size, shape or colour.) {2}
)]
(i)
{b) Name an animal that has the same life cycle as animal X. 11
{c) Explain why animal W and X lay many eggs each time during reproduction. 1]
7
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{a}

{6}

{c)

* Matthew inflated a balioon and twisted it into the shape of a swan as shown below.

\\ balloon

Based on the diagram above, what properties of air does it show? 1]

Matthew placed another baficon into a plastic botlle-as-shown below.
batioon a——

},j/

He tried to inflate the balloon using an air pump but found it very difficult to do so.
Explain why. 11

juand?

Suggest what Matthew can do fo make it easier to inflate the balloon without
rerneving the plastic bottle. [

BP-208
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37. John wanted to pack some clothes intc a suifcase but it would not fit as shown in
diagram 1.
shitcase

~ clothes

diagram 1

He placed the ciothes in a bag and used a special device to remove the air from
the bag. The bag was sealed after the air was removed as shown in diagram 2.

10ky

diagram 2

(a} Why was there a change in the mass of the bag of clothes in diagram 27

(b} Explain why he could fit all his clothes into the suitcase.

{1
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38. Study the flow chart below.

‘__Ju}_?fédals _

No isit

_ transparent?

s it ﬂexw

Yes

* E “Break easily ™ _
T when dropped_. | B
Yes
¢
(8) Based on the flow chart, state a difference between materialAand E. 1M
{b) Based on the flow chart, state two similarities between material 8 and C. [2]

(¢) Based on the flow chart, match the objects below with the correct materials A, B,
€, [ or £ in the blanks provided. it

@

coin

10
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39,

{2)

{b)

Weiming had two cut-outs A and B made from different materials as shown below.

5 cm b em
——
5cm 3 cm
cut-out A cut-out B

He conducted the following experiment in a dark room as shown below.

P AN A I A N N 2 S W 3

screen

tarch
atoutA  cutout B

The following diagram shows the shadow formed on the screen wihen the: forch
was swilched on.

o

™~ screen

cubtoutA —1

cut-ot B

Based on the diagram above, state the transparency of cut-outs A and By putting

a tick {¥") in the correct box. (2]
Cut-outs | Transparent | Translucent| Opaque
A
B j
Explain why Weiming has to conduct the experiment in a dark room. 1

BP-~211
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Weiming conducted another experiment. He stacked two pieces of material C and
and measured the amount of light that passed through material C as shown below.

- C O
torch T~ ©o
material C light sensor  data logger

He repeated the experiment by stacking more pieces of material C together and
recorded the results in the table below.

Number of pieces of material C Amount of light recorded
stacked in front of light sensor by the data logger {units)
5 s e
3 ] 1300
4 1000
5 ] 700

(c) Based on the results above, state the refationship between the number of pieces
of material C stacked together and the amount of fight detected by the datalogger.  [1]

12
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40, Study the diagram below.
bar magnet

metal nail — P ———————-

(a) Explain how Sam can magnetise the metal nail using the bar magnet. [1]

Sam tried to magnetise some metal nails A, B, C and D as shown below. He then
placed the metal nails near some paper clips.

battery

metal nail

steef paper cﬁpsT -

He recorded the number of paper clips attracted in the table below.

wire

Nall | Numberof coils Number of steel paper clips attra'cted
A T a0 | 8
B 50 15 ‘
c 70 s
D 90 3]
{b) Explain why metal nail D was not able to atiract any paper clips. %1

(c) Based on the results in the table, what can Sam conclude about the relationship
between the number of coils  and the magnetic strength of the melal nails A, B
and C? 1]

13
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41, Moarna conducted an experiment using two batteries and a wire coiled ten times
around an iron nail. An object H, was attached to a toy car. The toy car was placed
4 em away from the iron nail. She observed that the toy car moved away from the

iron nail.
. toy car
wire batteries
\ - ~, o O‘bject H , wooden téble Wﬁh
S P N B + smooth suface
ron nail
~ 10 coils of wire
C - |
 4em
{(a) Is object H a magnet or a magnetic ohject? [
{b) Explain your answer in (a}). 1)
{c) Suggest two ways to increase the magnetic strength of the electrormagnet 2]
{i
{i)
END OF. PAPER

44
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SCHOOL
LEVEL
SUBJECT
TERM

CHLJ ST NICHOLAS GIRLS SCHOOL
PRIMARY 4

SCIENCE

SA1

29

a)
b)

c)

It helps to break down food into simpler substance.
Part (@ absorbs digested food onto the bloodstream while Part P does not.
The water from the undigested food will not be absorbed

30

2)
b)

To see if plants need sunlight to survive.
Plant A. It was covered with a black paper so it could not receive sunlight
for it to make food for the plant.

31

a)
b)

)

Mould
Location Y. It was warm and it had moisture. Mould needs those two

conditions to grow.
He could put them in the fridge.

32

a)
9]

I. Stem II. Roots
Living things to grow
The plants were still a young plant so it cannot bear flowers.

33

False
Falsel¥l
Falsell
Truel]
Set-up P: §
Setap Q8 T

34

The number of legs. A grasshopper is an insect and all insects have six
legs but Rahim wrote eight legs from the number of legs animal P has.
To rotect ifs soft body.

Mammal

Dolphin

33

b)

i. The life cycle of Aninmal W occurs on land byut the life cycle of
Aninal X occurs in the water.

ii. Animal W’s young looks like the adult but Animal X’s young does not
look like adult

Toad

www.testpapersfree.com

BP-215



If some eggs are damaged or eaten by predators, others will still hatch
and develop into adults

36

a)
b)

c)

Air does have a definite shape

Air takes up place in the plastic bottle, the balloon blocked the hole so air
could not escape from the plastic bottle so the balloon has not enough
space to become bigger.

He could poke a hole in the plastic bottle so air could scape.

37

a)
b)

Air has mass. When the air in the bag was removed, there was lesser air
in the bag so the mass of the bag decreased.
The size of the bag became smaller after air was removed from the bag.

38

a)
c)

Material A is not flexible but Materials E is flexible.
Both material are transparent. Both are not flexible.
1 Dii. A

39

Cut-outs | Transparent | Transiucent| Opague
A
B N D

A dark room ensures that any light shining on the material comes only
from the torch.

The more pieces of material C stacked together, lesser light was detected
by the data logger

40

He could use the same poles of the bar magnet to stroke the metal nail in
the same direction repeatly.

The nail is not made of a magnetic material. )

As the number of coils increases, the magnetic strength of the metal nails
A and B increases too.

41

Object H is a magnet

The tou car moved away from the iron nail showing that there is
replusion as the like poles are facing each other.

i. He could add more batteries to the electromagne.

ii. He could coil more around the iron nail.
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